

Brief Report

# Combining New Non-Nucleoside Reverse Transcriptase Inhibitors (RTIs) with AZT Results in Strong Synergism against Multi-RTI-Resistant HIV-1 Strains

# Fei Yu <sup>1,2,†</sup>, Wen Li <sup>2,†</sup>, Lili Wang <sup>3,†</sup>, Yu Dai <sup>1</sup>, Xin Lu <sup>1</sup>, Qian Wang <sup>2</sup>, Lan Xie <sup>4</sup> and Shibo Jiang <sup>2,5,\*</sup>

- <sup>1</sup> College of Life Sciences, Hebei Agricultural University, Baoding 071001, China; feiyu1110@hotmail.com (F.Y.); qwertydaiyu@163.com (Y.D.); luxin0409@163.com (X.L.)
- <sup>2</sup> Key Laboratory of Medical Molecular Virology of MOE/MOH, School of Basic Medical Sciences, Fudan University, 130 Dong An Rd., Xuhui District, Shanghai 200032, China; wenli3708@gmail.com(W.L.); wang\_qian@fudan.edu.cn (Q.W.)
- <sup>3</sup> Research Center of Chinese Jujube, Hebei Agricultural University, Baoding 071001, China; lily850908@163.com
- <sup>4</sup> Beijing Institute of Pharmacology & Toxicology, Beijing 100850, China; lanxie4@icloud.com
- <sup>5</sup> Lindsley F. Kimball Research Institute, New York Blood Center, New York, NY 10065, USA
- \* Correspondence: shibojiang@fudan.edu.cn; Tel.: +86-21-54237673
- + These authors contributed equally to this work.

Received: 24 May 2018; Accepted: 28 June 2018; Published: 2 July 2018



**Abstract:** Reverse transcriptase inhibitors (RTIs), including nucleoside RTIs (NRTIs) and non-nucleoside RTIs (NNRTIs), are critical antiretroviral drugs for the treatment of human immunodeficiency virus (HIV) infection. Emergence of multi-RTI resistance calls for the development of more potent therapeutics or regimens against RTI-resistant strains. Here, we demonstrated that combining azidothymidine (AZT) with a new NNRTIs under development, diarylpyridine (DAPA)-2e, diarylanilin (DAAN)-14h, or DAAN-15h, resulted in strong synergism against infection by divergent HIV-1 strains, including those resistant to NRTIs and NNRTIs, suggesting the potential for developing these novel NNRTIs as salvage therapy for HIV/acquired immune deficiency syndrome (AIDS) patients.

Keywords: HIV-1; HAART; NNRTIs; antiviral activity; combination; synergism

## 1. Introduction

Reverse transcriptase (RT) is an important target for the development of anti-HIV-1 drugs (HIV: human immunodeficiency virus) because of its important role in the HIV-1 life cycle [1]. RT inhibitors (RTIs) include a variety of nucleoside and non-nucleoside reverse transcriptase inhibitors (NRTIs and NNRTIs) that inhibit the conversion of single-stranded viral RNA into double-stranded pro-viral DNA in the HIV-1 infection process [2]. These RTIs are key components of the highly active antiretroviral therapy (HAART) used in clinics [3,4]. However, the rapid emergence of multi-RTI resistance has led to the failure of patients to respond to the current HAART. Recently, Xie and colleagues have identified two classes of novel HIV-1 NNRTIs, diarylanilines (DAANs) and diarylpyridines (DAPAs) (see Figure 1), with extremely high anti-HIV efficacy and improved resistance profile [5–8]. As a further study, we combined new DAPA or DAAN-NNRTIs (i.e., DAPA-2e, DAAN-14h, and DAAN-15h) with azidothymidine (AZT) [9,10] to explore their potential synergistic antiviral effects against laboratory-adapted and primary as well as RTI-resistant HIV-1 strains. Meanwhile, NNRTI drugs nevirapine (NVP) [11] and etravirine (ETR or TMC125) [12] were used as controls because the synergy



between AZT and NVP [13] or between AZT and ETR [14] have been previously reported. Herein, we reported their synergistic results of new DAPA or DAAN-NNRTIs/AZT combinations.



**Figure 1.** Chemical Structure of the nucleoside reverse transcriptase inhibitor (NRTI) azidothymidine (AZT) and five non-nucleoside reverse transcriptase inhibitors (NNRTIs), including Nevirapine (NVP), Etravirine (TMC125), diarylanilines (DAANs)-15 h, DAAN-14 h, and diarylpyridines (DAPA)-2e.

#### 2. Results and Discussion

As shown in Table 1, all NNRTI/AZT combinations exhibited synergistic effects against infection by the laboratory-adapted HIV-1 strains IIIB (subtype X4) and Bal (subtype R5), and primary HIV-1 isolates 94US\_33931N (subtype R5) and 93IN101 (subtype C, R5), with combination index (CI) in the range of 0.025 to 0.904. The DAAN-15h/AZT combination showed the strongest synergism against HIV-1 IIIB infection with a CI of 0.071, and dose reduction of DAAN-15h was about 44-fold, while that of AZT was about 21-fold. Combining AZT with the novel NNRTI DAPA-2e, DAAN-14h, or DAAN-15h, all exhibited strong synergism, which is comparable to that of the combination of AZT with the FDA-approved NNRTI drug TMC125 or NVP, suggesting that these new NNRTIS have the potential to be used for HIV/acquired immune deficiency syndrome (AIDS) patients who have failed to respond to the currently used NNRTIS.

Subsequently, we tested NNRTI/AZT combinations against AZT-resistant strains 964 and 629. When tested alone, the IC<sub>50</sub> values of AZT against these two resistant strains were 15,178 and 41,109 nM, respectively, whereas those of NNRTIs tested alone were in the range of 0.6 to 34 nM. In the combinations, the IC<sub>50</sub> values of AZT against these two resistant strains were in the range of 7 to 4797 nM, whereas those of NNRTIs ranged from 0.02 to 18 nM, with CI < 0.3 (see Table 1). In general, AZT combined with DAAN-14h, DAPA-2e, and DAAN-15h exhibited stronger synergism against the two resistant strains than the combination of AZT with TMC125 or NVP (see Table 1). For example, the CI values for combinations of AZT with new NNRTIs against AZT-resistant strains 964 and 629 were in the range of 0.003–0.040 and 0.109–0.237, respectively, while the CI values for combinations of AZT with the currently FDA-approved NNRTIs against AZT-resistant strains 629 and 629 ranged from 0.231 to 0.262 and from 0.292 to 0.423, respectively (see Table 1).

Results suggest that these new NNRTIs may be used to treat patients against HIV-1 mutants resistant to the currently available RTIs.

|                            | CI    |                       | DA         | PA-2e                 | AZT                   |            |                       |  |
|----------------------------|-------|-----------------------|------------|-----------------------|-----------------------|------------|-----------------------|--|
| HIV-1 Strains (Tropism)    |       | IC <sub>50</sub> (nM) |            |                       | IC <sub>50</sub> (nM) |            |                       |  |
|                            |       | Alone                 | in Mixture | Dose Reduction (Fold) | Alone                 | in Mixture | Dose Reduction (Fold) |  |
| IIIB (X4)                  | 0.134 | 99.21                 | 3.05       | 32.50                 | 39.31                 | 4.07       | 9.66                  |  |
| Bal (R5)                   | 0.364 | 70.50                 | 8.42       | 8.38                  | 34.47                 | 8.42       | 4.10                  |  |
| 94US_33931N (R5)           | 0.652 | 11.51                 | 4.23       | 2.72                  | 148.91                | 42.32      | 3.52                  |  |
| 93IN101 (C, R5)            | 0.089 | 34.24                 | 0.29       | 116.19                | 730.12                | 58.95      | 12.39                 |  |
| 964 (R5/X4)                | 0.003 | 3.35                  | 0.01       | 460.00                | 15,178.32             | 7.28       | 2083.61               |  |
| 629 (R5/X4)                | 0.156 | 34.49                 | 2.37       | 14.52                 | 41,109.61             | 3562.15    | 11.54                 |  |
| RTMDR1 (X4)                | 0.169 | 24.46                 | 1.61       | 15.16                 | 935.39                | 96.82      | 9.66                  |  |
|                            |       | DAAN-14h              |            |                       | AZT                   |            |                       |  |
| HIV-1 Strains (Tropism)    | CI    | IC <sub>50</sub> (nM) |            |                       | IC <sub>50</sub> (nM) |            | D D. 1 (" (". 11)     |  |
| _                          |       | Alone                 | in Mixture | Dose Reduction (Fold) | Alone                 | in Mixture | Dose Reduction (Fold) |  |
| IIIB (X4)                  | 0.144 | 39.12                 | 2.42       | 16.18                 | 39.31                 | 3.22       | 12.20                 |  |
| Bal (R5)                   | 0.528 | 3.77                  | 0.31       | 12.26                 | 34.47                 | 15.39      | 2.24                  |  |
| 94US_33931N (R5)           | 0.904 | 1.65                  | 0.71       | 2.33                  | 148.91                | 70.74      | 2.11                  |  |
| 93IN101 (C, R5)            | 0.141 | 1.55                  | 0.07       | 22.09                 | 730.12                | 70.25      | 10.39                 |  |
| 964 (R5/X4)                | 0.023 | 0.62                  | 0.01       | 54.04                 | 15,178.32             | 69.23      | 219.26                |  |
| 629 (R5/X4)                | 0.109 | 13.87                 | 0.84       | 16.55                 | 41,109.61             | 2010.51    | 20.45                 |  |
| RTMDR1 (X4)                | 0.279 | 1.34                  | 0.20       | 6.67                  | 935.39                | 120.26     | 7.78                  |  |
|                            |       | DAAN-15h              |            | AZT                   |                       |            |                       |  |
| HIV-1 Strains (Tropism) CI |       | IC <sub>50</sub> (nM) |            | Dece Reduction (Fold) | IC <sub>50</sub> (nM) |            | Doca Roduction (Fold) |  |
|                            |       | Alone                 | in Mixture | Dose Reduction (Fold) | Alone                 | in Mixture | Dose Reduction (rold) |  |
| IIIB (X4)                  | 0.071 | 3.98                  | 0.09       | 44.22                 | 39.31                 | 1.86       | 21.13                 |  |
| Bal (R5)                   | 0.852 | 5.36                  | 0.52       | 10.31                 | 34.47                 | 26.02      | 1.32                  |  |
| 94US_33931N (R5)           | 0.063 | 0.47                  | 0.02       | 20.72                 | 148.91                | 2.27       | 65.65                 |  |
| 93IN101 (C, R5)            | 0.095 | 0.60                  | 0.02       | 27.72                 | 730.12                | 43.21      | 16.90                 |  |
| 964 (R5/X4)                | 0.040 | 0.74                  | 0.02       | 32.03                 | 15,178.32             | 139.03     | 109.17                |  |
| 629 (R5/X4)                | 0.237 | 16.57                 | 2.00       | 8.29                  | 41,109.61             | 4797.90    | 8.57                  |  |
| RTMDR1 (X4)                | 0.116 | 1.59                  | 0.09       | 17.45                 | 935.39                | 54.48      | 17.17                 |  |

| Table 1. Combination index (CI) and dose reduction in inhibition of it | infection by the HIV-1 strains by combining NN | RTIs and AZT. |
|--|--|---------------|
|--|--|---------------|

|                         | CI    |                       | TN         | IC125                 | AZT                   |            |                       |  |
|-------------------------|-------|-----------------------|------------|-----------------------|-----------------------|------------|-----------------------|--|
| HIV-1 Strains (Tropism) |       | IC <sub>50</sub> (nM) |            | Doco Roduction (E-14) | IC <sub>50</sub> (nM) |            | Deep Deduction (E-14) |  |
|                         |       | Alone                 | in Mixture | Dose Reduction (Fold) | Alone                 | in Mixture | Dose Reduction (Fold) |  |
| IIIB (X4)               | 0.179 | 0.89                  | 0.08       | 10.66                 | 39.31                 | 3.35       | 11.73                 |  |
| Bal (R5)                | 0.883 | 3.20                  | 1.93       | 1.66                  | 34.47                 | 9.65       | 3.57                  |  |
| 94US_33931N (R5)        | 0.203 | 2.09                  | 0.18       | 11.86                 | 148.91                | 17.62      | 8.45                  |  |
| 93IN101 (C, R5)         | 0.110 | 1.49                  | 0.03       | 46.05                 | 730.12                | 64.76      | 11.27                 |  |
| 964 (R5/X4)             | 0.231 | 0.73                  | 0.13       | 5.58                  | 15,178.32             | 789.89     | 19.22                 |  |
| 629 (R5/X4)             | 0.292 | 5.86                  | 1.20       | 4.89                  | 41,109.61             | 3599.14    | 11.42                 |  |
| RTMDR1 (X4)             | 0.194 | 1.24                  | 0.17       | 7.21                  | 935.39                | 51.74      | 18.08                 |  |
|                         |       |                       | Ν          | NVP                   | AZT                   |            |                       |  |
| HIV-1 Strains (Tropism) | CI    | IC <sub>50</sub> (nM) |            | Deer Bedration (E-14) | IC <sub>50</sub> (nM) |            | Deep Deduction (F-14) |  |
|                         |       | Alone                 | in Mixture | Dose Reduction (rold) | Alone                 | in Mixture | Dose Reduction (Fold) |  |
| IIIB (X4)               | 0.199 | 11.74                 | 1.47       | 8.01                  | 39.31                 | 2.93       | 13.41                 |  |
| Bal (R5)                | 0.892 | 307.91                | 50.25      | 6.13                  | 34.47                 | 25.12      | 1.37                  |  |
| 94US_33931N (R5)        | 0.316 | 24.15                 | 2.91       | 8.28                  | 148.91                | 29.15      | 5.11                  |  |
| 93IN101 (C, R5)         | 0.025 | 33.64                 | 0.10       | 343.92                | 730.12                | 16.30      | 44.78                 |  |
| 964 (R5/X4)             | 0.265 | 1.28                  | 0.27       | 4.73                  | 15,178.32             | 809.01     | 18.76                 |  |
| 629 (R5/X4)             | 0.429 | 29.68                 | 6.82       | 4.35                  | 41,109.61             | 8832.58    | 5.02                  |  |
| RTMDR1 (X4)             | 0.132 | 255.16                | 18.55      | 13.75                 | 935.39                | 55.66      | 16.81                 |  |

Table 1. Cont.

Note:  $\overline{HIV}$  = human immunodeficiency virus. IIIB and Bal are laboratory-adapted HIV-1 strains, 94US\_33931N and 93IN101 are primary HIV-1 strains, 964 and 629 are AZT-esistant HIV-1 strains, and RTMDR1 is the multiple RTI-resistant HIV-1 strain. A CI of >1, 1, and <1 indicates antagonism, additive effect, and synergism, respectively. The strength of synergism is indicated by the following CI values: <0.1: very strong synergism; 0.1–0.3: strong synergism; 0.3–0.7: synergism; 0.7–0.85: moderate synergism; and 0.85–0.90: slight synergism. Dose reduction (fold) was calculated using the following formula: IC<sub>50</sub> value of an inhibitor tested alone/the IC<sub>50</sub> value of the same inhibitor tested in combination with another inhibitor.

Finally, we investigated the cooperative effects of these new NNRTIs in combination with AZT against the multiple RTI-resistant strain RTMDR1. This strain contains mutations in RT amino acid residues 74V, 41L, 106A, and 215Y, rendering it resistant to many NRTIs and NNRTIs [15]. RTMDR1 appeared particularly resistant to NVP and AZT, with IC<sub>50</sub> of 255 and 935 nM, respectively, when tested alone. On the other hand, this HIV-1 strain was relatively sensitive to TMC125, the recently approved NNRTI, as well as the new NNRTIs under development including DAPA-2e, DAAN-14h, and DAAN-15h in the range of 1.34–24.46 nM. All NNRTI/AZT combinations exhibited strong synergism against the multi-RTI-resistant strain RTMDR1, with CI ranging from 0.116 to 0.279 and dose reduction in the range of 7- to 18-fold for both NNRTIs and AZT (see Table 1). These findings suggest that combining NNRTIs with AZT leads to a strong synergism against infection by HIV-1 mutants resistant to both NRTIs.

In summary, the new NNRTIs under development, DAPA-2e, DAAN-14h, and DAAN-15h, possess improved antiviral activity against HIV-1 strains, particularly those resistant to RTIs. Here we found that combining these new NNRTIs with AZT resulted in synergism, or strong synergism, against divergent laboratory-adapted and primary HIV-1 strains, as well as those resistant to NRTIs and NNRTIs. Therefore, these new NNRTIs can be further developed as new additions to the anti-HIV drug arsenal, and they can be effectively used as salvage therapy for HIV/AIDS patients who have failed to respond to currently available antiretroviral drugs or as anti-HIV microbicides for prevention of sexual HIV transmission. Nevertheless, pre-clinical studies on the in vivo efficacy and safety, including the long term toxicity, of these NNRTI/NRTI combinations and on the selection of HIV-1 drug mutants are warranted in order to establish the therapeutic potential of these drug combinations in clinic application. In addition, the combinations of these investigational NNRTIs with the modern, preferred NRTIs such as tenofovir (TDF/TAF) and FTC should also be tested in the future.

#### 3. Materials and Methods

#### 3.1. Reagents

CEMx174 5.25M7 cells, HIV-1 inhibitors AZT, TMC125, and NVP, laboratory-adapted HIV-1 strains IIIB and Bal, primary HIV-1 strains 94US\_33931N and 93IN101, AZT-resistant strains 964 and 629, and the RTI-resistant strain RTMDR1 were all obtained from the National Institutes of Health AIDS Research and Reference Reagent Program. The small molecules NNRTI DAPA-2e, DAAN-14h, and DAAN-15h were synthesized as previously described [5–8].

#### 3.2. Viral Infectivity Assay

The inhibitory activities of different drugs on infection by different HIV-1 strains were tested in CEMx174 5.25M7 cells by p24 assay as previously described [16–18]. Briefly, in the presence or absence of the tested inhibitors at graded concentrations, CEMx174 5.25M7 cells expressing CD4 and coreceptors CXCR4 and CCR5 were infected with a HIV-1 strain at 100 TCID<sub>50</sub> (50% tissue culture infective dose). On the fourth day post-infection, culture supernatants were collected to test for p24 antigen by ELISA as previously described [19]. The ratio of NNRTI (DAAN or DAPA) to NRTI (AZT) in these combinations was determined based on their IC<sub>50</sub> (concentration of an inhibitor achieving 50% inhibition of viral infection) values when tested alone. For example, the IC<sub>50</sub> values of DAPA-2e (NNRTI) and AZT (NRTI) for inhibiting HIV-1 IIIB infection when tested alone are 99.21 and 39.31 nM, respectively (see Table 1). The ratio for DAPA-2e:AZT in the combination is 2.5 (=99.21/39.31), to make the concentrations of the NNRTI and NRTI in the combination with equal potency. The ratios for other NNRTIs to AZT were calculated in the same way. IC<sub>50</sub> and CI (combination index) values were calculated using the CalcuSyn program [20–22]. The strength of synergism is indicated by the following CI values: <0.1: very strong synergism; 0.1–0.3: strong synergism; 0.3–0.7: synergism; 0.7–0.85: moderate synergism; 0.85–0.90: slight synergism.

### 4. Conclusions

In summary, our results suggest that these newly identified NNRTIs can be used in combination with NRTIs, such as AZT, as salvage therapy for HIV/AIDS patients who have failed to respond to currently available antiretroviral drugs, or as anti-HIV microbicides for prevention of sexual HIV transmission.

Author Contributions: S.J. conceived, designed, and supervised the project; F.Y., W.L., L.W., Y.D., X.L., and Q.W. performed the experiments, S.J., F.Y., W.L., and L.X. integrated all the data and wrote the paper.

Acknowledgments: This research was supported by grants from the National Natural Science Foundation of China (81501735 and 81601761), starting grant from Hebei Agricultural University (ZD2016026), Program for Talents Introduction from studying overseas of Hebei Province (CN201707), and Program for Youth Talent of Higher Learning Institutions of Hebei Province (BJ2018045).

Conflicts of Interest: The authors declare no conflict of interest.

#### References

- Sarafianos, S.G.; Marchand, B.; Das, K.; Himmel, D.M.; Parniak, M.A.; Hughes, S.H.; Arnold, E. Structure and function of HIV-1 reverse transcriptase: molecular mechanisms of polymerization and inhibition. *J. Mol. Biol.* 2009, 385, 693–713. [CrossRef] [PubMed]
- 2. Wainberg, M.A. AIDS: Drugs that prevent HIV infection. *Nature* 2011, 469, 306. [CrossRef] [PubMed]
- 3. Herschhorn, A.; Hizi, A. Retroviral reverse transcriptases. *Cell Mol. Life Sci.* **2010**, *67*, 2717–2747. [CrossRef] [PubMed]
- 4. Jonckheere, H.; Anné, J.; De Clercq, E. The HIV-1 Reverse Transcription (RT) Process as Target for RT Inhibitors. *Med. Res. Rev.* 2000, 20, 129–154. [CrossRef]
- Tian, X.; Qin, B.; Wu, Z.; Wang, X.; Lu, H.; Morris-Natschke, S.L.; Chen, C.H.; Jiang, S.; Lee, K.-H.; Xie, L. Design, synthesis, and evaluation of diarylpyridines and diarylanilines as potent non-nucleoside HIV-1 reverse transcriptase inhibitors. *J. Med. Chem.* 2010, *53*, 8287–8297. [CrossRef] [PubMed]
- Sun, L.-Q.; Zhu, L.; Qian, K.; Qin, B.; Huang, L.; Chen, C.H.; Lee, K.-H.; Xie, L. Design, synthesis, and preclinical evaluations of novel 4-substituted 1,5-diarylanilines as potent HIV-1 non-nucleoside reverse transcriptase inhibitor (NNRTI) drug candidates. J. Med. Chem. 2012, 55, 7219–7229. [CrossRef] [PubMed]
- Liu, N.; Wei, L.; Huang, L.; Yu, F.; Zheng, W.; Qin, B.; Zhu, D.-Q.; Morris-Natschke, S.L.; Jiang, S.; Chen, C.-H. Novel HIV-1 non-nucleoside reverse transcriptase inhibitor agents: Optimization of diarylanilines with high potency against wild-type and rilpivirine-resistant E138K mutant virus. *J. Med. Chem.* 2016, *59*, 3689–3704. [CrossRef] [PubMed]
- Tian, X.; Qin, B.; Lu, H.; Lai, W.; Jiang, S.; Lee, K.-H.; Chen, C.H.; Xie, L. Discovery of diarylpyridine derivatives as novel non-nucleoside HIV-1 reverse transcriptase inhibitors. *Med. Chem. Lett.* 2009, 19, 5482–5485. [CrossRef] [PubMed]
- 9. Fischl, M.A.; Richman, D.D.; Grieco, M.H.; Gottlieb, M.S.; Volberding, P.A.; Laskin, O.L.; Leedom, J.M.; Groopman, J.E.; Mildvan, D.; Schooley, R.T. The efficacy of azidothymidine (AZT) in the treatment of patients with AIDS and AIDS-related complex. *N. Engl. J. Med.* **1987**, *317*, 185–191. [CrossRef] [PubMed]
- 10. Brook, I. Approval of zidovudine (AZT) for acquired immunodeficiency syndrome: a challenge to the medical and pharmaceutical communities. *JAMA* **1987**, *258*, 1517–1517. [CrossRef] [PubMed]
- 11. Zhang, Z.; Hamatake, R.; Hong, Z. Clinical utility of current NNRTIs and perspectives of new agents in this class under development. *Antivir. Chem. Chemother.* **2004**, *15*, 121–134. [CrossRef] [PubMed]
- Andries, K.; Azijn, H.; Thielemans, T.; Ludovici, D.; Kukla, M.; Heeres, J.; Janssen, P.; De Corte, B.; Vingerhoets, J.; Pauwels, R. TMC125, a novel next-generation nonnucleoside reverse transcriptase inhibitor active against nonnucleoside reverse transcriptase inhibitor-resistant human immunodeficiency virus type 1. *Antimicrob. Agents Chemother.* 2004, *48*, 4680–4686. [CrossRef] [PubMed]
- Richman, D.; Rosenthal, A.; Skoog, M.; Eckner, R.; Chou, T.-C.; Sabo, J.; Merluzzi, V. BI-RG-587 is active against zidovudine-resistant human immunodeficiency virus type 1 and synergistic with zidovudine. *Antimicrob. Agents Chemother.* 1991, 35, 305–308. [CrossRef] [PubMed]
- 14. Maga, G.; Hübscher, U.; Pregnolato, M.; Ubiali, D.; Gosselin, G.; Spadari, S. Potentiation of inhibition of wild-type and mutant human immunodeficiency virus type 1 reverse transcriptases by combinations

of nonnucleoside inhibitors and d-and l-(β)-dideoxynucleoside triphosphate analogs. *Antimicrob. Agents Chemother.* **2001**, *45*, 1192–1200. [CrossRef] [PubMed]

- 15. Larder, B.A.; Kellam, P.; Kemp, S.D. Convergent combination therapy can select viable multidrug-resistant HIV-1 in vitro. *Nature* **1993**, *365*, 451. [CrossRef] [PubMed]
- Su, S.; Wang, Q.; Xu, W.; Yu, F.; Hua, C.; Zhu, Y.; Jiang, S.; Lu, L. A novel HIV-1 gp41 tripartite model for rational design of HIV-1 fusion inhibitors with improved antiviral activity. *AIDS* 2017, *31*, 885–894. [CrossRef] [PubMed]
- 17. Su, S.; Zhu, Y.; Ye, S.; Qi, Q.; Xia, S.; Ma, Z.; Yu, F.; Wang, Q.; Zhang, R.; Jiang, S. Creating an artificial tail anchor as a novel strategy to enhance the potency of peptide-based HIV fusion inhibitors. *J. Virol.* **2017**, *91*, e01445-16. [CrossRef] [PubMed]
- 18. Li, W.; Yu, F.; Wang, Q.; Qi, Q.; Su, S.; Xie, L.; Lu, L.; Jiang, S. Co-delivery of HIV-1 entry inhibitor and nonnucleoside reverse transcriptase inhibitor shuttled by nanoparticles: cocktail therapeutic strategy for antiviral therapy. *AIDS* **2016**, *30*, 827–838. [CrossRef] [PubMed]
- 19. Li, W.; Wang, Q.; Li, Y.; Yu, F.; Liu, Q.; Qin, B.; Xie, L.; Lu, L.; Jiang, S. A nanoparticle-encapsulated non-nucleoside reverse-transcriptase inhibitor with enhanced anti-HIV-1 activity and prolonged circulation time in plasma. *Curr. Pharm. Des.* **2015**, *21*, 925–935. [CrossRef] [PubMed]
- 20. Chou, T.-C. Theoretical basis, experimental design, and computerized simulation of synergism and antagonism in drug combination studies. *Pharmacol. Rev.* **2006**, *58*, 621–681. [CrossRef] [PubMed]
- Qi, Q.; Wang, Q.; Chen, W.; Du, L.; Dimitrov, D.S.; Lu, L.; Jiang, S. HIV-1 gp41-targeting fusion inhibitory peptides enhance the gp120-targeting protein-mediated inactivation of HIV-1 virions. *Emerg. Microb. Infect.* 2017, *6*, e59. [CrossRef] [PubMed]
- Lu, L.; Liu, Q.; Zhu, Y.; Chan, K.-H.; Qin, L.; Li, Y.; Wang, Q.; Chan, J.F.-W.; Du, L.; Yu, F. Structure-based discovery of Middle East respiratory syndrome coronavirus fusion inhibitor. *Nat. Commun.* 2014, 5, 3067. [CrossRef] [PubMed]

Sample Availability: Not available.



© 2018 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (http://creativecommons.org/licenses/by/4.0/).